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Combining Amounts (with Fractions) Name:

Usethetablesto answer each question.

1)  Thetable below shows the weight
of several vehicles. What isthe
combined weight of all the cars?

Car Weight (in
tons)
Carl 63/5
Car 2 57,
Car 3 87,
Car 4 42/8

3)  Thetable below shows the weight
of several phones. What isthe
combined weight of all the phones?

Phone V\i)?]gr;;()' !
Phone 1 22/4
Phone 2 81/2
Phone 3 62/5
Phone 4 51/2

5)  Thetable below shows the height of
severa boxes. What isthe
combined height of al the boxes?

Box 1 47,
Box 2 31/8
Box 3 97,
Box 4 47,

2)

4)

6)

The table below shows the length of
several pieces of string. What isthe
combined length of al the strings?

Answers

String : ?22;28()' !
String 1 55/6
String 2 87,
String 3 22/5
String 4 21/8

The table below shows how much water
severa containers will hold. What isthe
combined capacity of all the containers?

Container Qapacity
(in cups)
Container 1 61/3
Container 2 57,
Container 3 53/4
Container 4 91/2

The table below shows the length of
several roads. What is the combined

length of all the roads?

Road Diﬁ?; i
Road 1 17
Road 2 17,
Road 3 57,
Road 4 27
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Combining Amounts (with Fractions) Name. Answer Key
Usethetablesto answer each question. Answers
1)  Thetablebelow showstheweight  2) The table below shows the length of o5y
of several vehicles. What isthe several pieces of string. What isthe 40
combined weight of all the cars? combined length of al the strings? 103
Weight (in . Length (in 18 /120
S tons) String I nches)
3 24 - 5 100 2218/
Carl 675 6 /a0 String 1 576 5 7120 20
Car 2 57, 57,0 String 2 87, 87120 271/12
Car 3 8% 8740 String 3 27, 270
) 17
Car 4 47, 4%, String 4 27, 2% 217,
25
3)  Thetablebelow showstheweight 4)  Thetable below shows how much water
of several phones. What isthe severa containers will hold. What isthe
combined weight of all the phones? combined capacity of all the containers?
Phone et Container C;apauty
ounces) (in cups)
Phone 1 22/4 210/20 Container 1 61/3 64/12
Phone 2 81/2 810/20 Container 2 51/2 56/12
Phone 3 62/5 68/20 Container 3 53/4 59/12
1 10 . 1 6
Phone 4 57, 5 7% Container 4 9/, 9/,
5)  Thetable below showsthe height of  6) The table below shows the length of
severa boxes. What isthe severa roads. What is the combined
combined height of al the boxes? length of all the roads?
Box H.e| ght (in Road D|stqnce (in
inches) miles)
Box 1 47, 4%, Road 1 17, 17,
1 3 1 5
Box 2 37 3754 Road 2 174 174
Box 3 97, 9%, Road 3 57, 5%,
Box 4 47, 4754 Road 4 27 270
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